—., HE%E
1.e

HARIEE e =2.718281828459045

2. inf

fHN inf, FRRTLIRAK

3. pi

5 J& % r = 3.141592653589793

4. tau

R\ 27 =6.283185307179586

5. nan

{4 nan, 7~ Not a number

=, EA&E (RERRINESH)

math {&EiR

1E5Z R sin(x) = sin x
RILERAL cos(x)=cos x
NRIPE tan(x) = tan x
BB TZ R asin(x) = arcsin x
AR 5% R A acos(x) = arccos x
atan(x) = arctan x
FAEVI %

X X
atan2(x, y) = atan(—j = arctan —
y y

E, Rih& % (BEHRRINEH)

WHHIEGZ | sinh(x)= ¢ _Ze_ SO 1E 5% asinh(x)= ln(x +4x7 + 1)
I 4x5% | cosh(x)= ¢ ;ex SR ARGZ | acosh(x)= ln(x +4/x° —1)
SHIEY] | tanh(x)= ¢ - e:x SR EY) atanh(x) = Ll

e +e” 2 I-x




w, fHEH K

PR3 YEH #iE
2 4B, BE | POVED =8
= pow(2.0,3) = 8.0
pow(x, y, z=None)
3 /[\72%&7 jBIEI x" %z
exp(x) IR [H] e
expm1(x) R A et —1 PREA 1 T
[\ (m,n), mf2 float, | x=0Kf, IR[E(0,0),
frexp(x)
n & int, JHE x=mx2" 7E?U|\U0.5S|m|<1
ldexp(x, ) Iz [\ xx 2" IR AR 2 float
A, FE&EK
log(x, a=math.e) | #Z[Fllog, x ,BRIA/Z Inx
log10(x) IR 1A 1g x
loglp(x) iR [\ In(1+ x)
log2(x) i[9l log, x
>, ¥R&HK
fabs(x) A float JE IR [H] x ()48 0HE
fsum(seq) A float JE 2R [B] 7 1) () Al
ceil(x) [
floor(x) J] T HURE
trunc(x) IR B x FR G
fmod(y, x) i[9 float(y % x)
sqrt(x) iR A Vx
hypot(x, y) &AL x* + 3
ged(x, y) R\ x, y B R ALIEL
degrees(x) N
radians(x) A RE N
factorial(n) IR [A] n!
copysign(x,y) | REMELXMESE T x, 5y 5 y=0 W5 NIE




£, FBE &

FIWr a F1 b SR RARLL, AHH, ARELE
isclose(a, b, *, rel tol=1e-09, abs tol=0.0) | difference = max(rel tol*max(abs(a), abs(b)), abs_tol)
abs(a-b)<difference I i [A] True, 75M|i%[A] False

isfinite(x) 4 x ¢ {inf, NaN} i, 3% [5] True
isinf(x) 24 x = +math.inf B} & [7] True
isnan(x) M x AN EF IR [E] True
VA - % R -
1. {5 HHR R
gamma(x) =T"(x I e dt
lgamma(x) =1n|F(x)| =In '[:wtx_le" dt‘
2. IREMRERE
erf(x) = I < erf ) 1>

erfc(x) =1—erf(x)

3. modf() BRI %L
L. modf(x)
Dhfg:  I&[E—A> tuple, H—MEAS x BI/NIGHSS, 56 T AME AR x BIEEG 7y, XA
HA x W5 —FE, Jf HAR R float

4. remainder() K %1
{EV%:  remainder(x, y)

hee: R x—ny, WIUEHEne Z HHAE ny Fx EE 2 &/

ZN 7 E
>>> from math import remainder
>>> remainder(3.9,2) #39-2%2
-0.10000000000000009
>>> remainder(3.9,1) #39-4%*1
-0.10000000000000009
>>> remainder(-8,3) #-8-(-3)*3
1.0
>>> remainder(-8,10) #y BIZEE R T x AXHER, BEiR A x

2.0




